UP JEEP - 2021

Question Challenge

Roll No.
Candidat

Group A Engineering & Technology Diploma v
NeBate :09/02/2021

Test :04:00 PM
Time

Center
Correct Option selectedWrong Option selected (Your answer)Correct Option

QNo:1 [ 6:x:2:13, the value of x is R 6:x:213, a9 x HMMR?
A 93 93
B -39 -39
c 39 39
D 93 -93
1 1 m
. ; i f3Perchad 2
Q.No: 2 V\;hat is the maximum value A e Eal AH
o
(o) [0}
B 1 1
1 1
C = =
2 2
D 2 2
3 joker's cap is in the form of a cone of base radius 7 cm UesiiaRaeIdTgeheig e, fi qrRRAGUT
Q.No:3 and height 24 cm. Find the area of the sheet required to 7 ¥Htei&arE 24 §ig? shtUarA 10 fruatemfdemr
make 10 such caps. 3T TS AT It OTd fhieTar?
A 7500 cm2 5500 cm2 4500 cm2 6500 cm2 7500 cm?2
B
5500 cm2
C
4500 cm2
D
6500 cm2
Q.No:4If8 **1 =64, What is the value of 3 2X*1 g 81 =64, q@ 32> FWMEEMT?
A 1 139
B 3 FtE T
c 9
D N
on
e
If v = E"ZB and 31 = ﬂ\ll'lz_? the value of P 1
X = W= ' 3 Fl
QNo:5 1 Ry = Y28 y = \IZ?_a‘rx+_1r—Famwr-r
Xtp==——=is
- x2 &
9 9
B 33 33
c ik L
4 4
D None IwRb 7O wiE TE
. o . _ . Page-1
Q.No:6 sin 2B = 2sinB is true when B is equal to T sin 2B = 2sinB At g e B A G ?

A 600 600



Q.No: 7

o o0 w >

Q.No:8

O 0O w

Q.No:9

O O W

Q.No:10

Q.No: If

o 0O w >

Q.No:12

o o0 o >

Q.No:13

o0 w >

Q.No:14

90°
30°

0°

If the height and the radius of a cone are doubled, the
volume of cone becomes

8 times
4 times
6 times

3times

If 3x + 2y =12 and xy = 6, the value of 9x2 + 4y2 is
27
20
70
72

If x+2 is a factor of x2+mx+14 then m=7?
14

7

2

9

The area of two circles are in the ratio 4.9, the ratio of
circumference is

32
4:9
23

9:4

2,then x¥ 4

1
-
x

The radius of spherical baloon increases from 7 cm to 14

cm as air is being pumped into it. Find the ratio Ofrrn?ﬁ% Eﬂ'ﬂﬁi@aﬂéﬂﬁa t ROEOTRRIR

surface area of the balloon in the two cases.
1:41:21:8 1116

If the diagonals of a rhombus are 18 cm and 24 cm
respectively, then its side is equal to

13cm
15cm
17 cm

20cm

The cost of digging a cuboidal pit 8 metre long.
6 metres broad and 3 metres deep at the rate & 30 per

meter3 wil be
?4330
?4320

920°
30°

0°

Reyesige TRt UreneTefearsiid, dieigent 3 g s 87

8
47T
6
3w

Re3x+2y=12
27

3R xy =6 Bat 9X2+4y2 @wIAFET 2

20
70
72

g X+2, X2+Mx+14 @ gs AP ¥ d  m=?
14
7
2

9

Qg FImad egud 49 8, ujRediererguas?

3:2
4:9
2:3

9:4

TaAhRIRAG B RATIE ARG UT 7 e 14 S g
?

14

12

18

116

e TN & 3T ey
THT EN?

13 cm

18 3R 24 B A W 9T

15 cm
17 cm

20cm

S0 30 Ufefter3ahexd 8 wiezelr, 6 Hiewagraii e o1 &3 fex
TR I T Wi T @IN g

?433 0
F4320
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Q.No:15

o 0o w »

Q.No: 16

o 0 m >

Q.No:17

o 0 mw >

Q.No:18

[gRvs)

Q.No:19

o 0w

Q.No:20

o 0O w >

Q.No:21

o 0O w >

Q.No:22

F4340
F4310

Find the volume of a sphere whose surface area is 154
cm2

593/3 cm3
359/3 cm3
739/3 cm3

539/3 cm3

A relation between x and y such that the point (xy) is
equidistant from the points (7,1) and (3,5)

x-y=1

X+y=2
x+y=1
X-y=2

The diameter of a metallic ball is 42 cm. What is the
mass of the ball, if the density of the metal is 8.9 g per
cm3?

342.3912 gm 344.3912 gm 345.3912 gm 343.3912 gm

A cuboidal tank is 6m long, 5m wide and 4.5 m deep.
How many litres of water can it hold.

(Im3 =1000 /)
135000 1

90000
900
13500

ForAP:2,7,12..Valueof10 ' termis
37
47
27

57

If @ isfacute angleand @ =cos @ then the value
2tan2sing *sin2 g is

/3

3/2

4/3

/4

The radii of the base of a cylinder and a cone are in the
ratio 3:4 and their heights are in the ratio 2:3. Then the
ratio of their volumes will be

9:8 4:3 3:4 89

The circumference of the base of a cylinder vessel is 132

cm and its height is 25 cm. How many litres of water can

it hold?
34.750 Litre

?4340
=‘F43'IO

I Tt T S o1 ffior s ff alower 154 @t 2

S 3
&f 3
&f 3
& 3

593/3
359/3
739/3

539/3

x 3R y #OTEHrz , farfereig
JuAgO0 g |

x-y=1x

(xy), fooo (77) SR (3,5)
3t

+y=2x+
y=1x-y
=2

TIHITHTOTHI 42818, Riggaengamru 89 Tm

Ufdei38, Asadeamiamamorafaed?

3423912 gm
3443912 gm
3453912 gm

343.3912gm

YhEATRRED 6 Howft |5 HodidieR 4.5 Ho e
A0 i Mo3 urft sm@@aT g (IM3=1000  Hiem)

135000 #ftex

90000 #ex
900 wfier
13500 &t

R Wolt :2,7,12,... @10 a uE g
37
47
27

57

e g qa@ugaa Sin @ =Cos g @ 2tan g +sin2
@ -1 &g 2 2

/3

3/2

4/3

1/4

Teh e 3R eh Sigp Y ameR B RraUrel st 3:4 goe
SAHIAEHISUIT 2:3 FdISHSATAd IR fAfdee? ok

9:8
43
3:4
8:9

NThmeRTjRe 132 Sefteicdars 25 It

2, aaNTAO Rareieraremaaars?

34.750 wfier
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[g]

o 0O w >

o o w »

o 0O W >

o 0O w >

o 0O w >

34.850 Litre
34.550 Litre
34.650 Litre

Mode of the following data is 12,13,17,12,17,15,13,17

Height of an equilateral triangle of side 12 cm is
6\,@ cm2
4V§cm2
Bvl§cm2
2J§cm2

In a right circular cylinder, if the radius is halved and the
height is doubled then the volume will be

doubled
4 times
halved

the same

Total surface area of a hemipheres of radius r is

o,

—

3

2

-G T)-

The value ofi_ l.{. l
10 5 3
1/5

-1/5
1100

The chord of a circle is equal to its radius the angle
_subtended by this chord at the minor arc of the circle
150 ©

120 °©

75°

60°

cot?f = ——— is equal to
sint@

-1
1
sin2 Il

sec2
a8

If Ais acute angle and 13sinA = 5 then the value of

34.850 wfier
34550 wfier
34.650 wfiex

ffriea sergt @1 aSa® 8212, 13,17, 12,17,15,13,17

12 @t ot aret FHES st &t I=r8 ghft?
6,3 M2
4,fcm2
8,/3crm2
2,f3m2

e dr gefta de 70 R f:0 01 &t s o fgar ot ok Jaré ant
ST R T ST qe Smaa gl

@
4
afam

RIER

SN &1 § o gt 7 Yaha g 2
2
=2

3

)

1 1
0 [a 12 {3
1/5
-1/5
1100

foreft g& oY Sftar 2 Ut & srrer 839 st OrT ge & g =g 790
ST SHIOT B2

150 ©
120 ©
75°

60°

1
cot?f = ———FAFE ?
SR

R
1
sin 28

sec 2 g

Ssind — 2cosA
a9 [

e A QA& aar 13Sin A =5
tand

Page-



o 0 w >

Ssind — ZcosA |
e——— S

Not Answeleg

Q.No:31

o o0 w >

Q.No:32

Q.No: 33

B
C
D

tanAd
o]
13
/1
5
/6
5
1598
/m is equal to
7‘J 1 — tanx
cosx . sinx

COS2X - Sin2x
1

COsX + sinx

Convert 1350 into radians ?
S

4

im

4
2r
3
3m

4

If a2+b2+c2=280 and ab+bc+ca=9/2 then the value of
(a+b+c)3is
4913

4193 -4913 None of

the above

Not Answered

Q.No:34

o 0O w

Q.No:35

BC

Q.No:36

Q.No:37

Factorization of x2 - 4x - 12 is
(x+6)(x+2)
(x-6)(x+2)
(x-6)(x-2)
(x+6)(x-2)

Which of the following is not a quadratic
equation
Xx2+3x=(-1)(1-3%) x3-x2+2x+1=(x+1)3 (x+2)(x-1)=x2-2x-3

(x+2)2 = 2(x+3)

1
If x2 4 — = 7, the value of 2x% — i, is
x2 X2

+2v5
+6vs
+ 45

None

A quadratic polynomial whose zero's are 5 and -3 is
Xx2-2x-15

x2-2x+15

AH B |

0 13/15
12/65
18/67

14+
| tanx W%
\I 1— tanx

cosx . sinx
COS2X - Sin2x
1

cosx + sinx

1350 &t e 70 uRfaana
Sm feere-

T

in

Ty

2n

3

3m

4

g a2+b2+c2=280 3k ab+bc+ca=9/2 d« (a+b+c)3 &
AHE g 2

4913

4193 -4913
O @ & Tl

X2 - 4x-12 a?{[ﬂ'ﬁ'@[)goe?
(x+6)(x+2) (x-

6)(x+2) (x-6)

(x-2)

(x+6)(x-2)

AFG & AR RO

X2+3x=(-1)(1-3x) x3-x2+2x+1=(x+1)3

(x+2)(x-1)=x2-2x-3 (x+2)2 = 2(x+3)

R x2 4 5 = 77 242 —-f}ammwﬁﬂﬁ
b b

+2+5

+6vS

+45

F0 @ FiE T

fOuraesuferahyde s ok~ 3B
X2-2x-15 x2-2x+15

Page-



C X2+x+1

= Xx2+2x-15

QNo38 A matchbox measures 4cm_x 25cm x1.5cm. Th‘e

volume of a packet containing 12 such boxes will be

A 180 cm3

B 120 cm3

C 140 cm3

D 160 cm3

Not Answered

m, TR e n+i 1y Hm
Q.No:39 Thevalueof | ___ s Lege is
x™ x! a Al
A 2
1
B =
2
C [0]
D 1
Q.No:40If sin @ = iand & isacute angle then tang is
A 13/17
B 3/4
c 12/13
D 1713
Q.No:41
If lOgv'§ 27=x then value of x is
A 6
B 4
C
D 9
3
Q.No: 42 If (a+b) 2a+28b+b2, then the value of (10.3)2 is
A 100.9
B 160
C 106.09
D None of the above
| A dice is thrown once. What is the probability of
Q.No:43 N )
getting a prime number
A /6
B /3
c 2/3
D 12
If the length of a chord of circle is 16 cm and its distance
Q.No:44  from the centre is 15 cm, then the radius of the circle is
A 15 cm
B 17 cm
C 34 cm
D 16cm
QNo4S5 Distance between the lines 3x + 4y + 15 =0 and 6x + 8y

-13=0is

X2+x+1

X2+2x-15

TafATaEfhsfRanad 4cm x 2.5cm x 1.5 cm goe? 39 @XEdh
12 PrrafhefidunteenmadTgim

180 cm3

120 cm3

140 cm3

160 cm3

ey, MmN 71y, il py Hm

xm

b o x!

© miw M

R sing = 2ok g QTR E tan g TR
1317

3/4

1213

1713

3 277x T x HTHERTT?
log

W o N O

g (a+b)2 =a2+2ab+b2, qg (10.3)2 HmHMgT?

100.9 160

106.09
Fm0 @ FE T

ThUTHTYeERIhTSATS, HHTUTPISI U &g ?

/6
/3
2/3
1/2

A% g & Yeh Sftar Y «IrE & e Jeft ot st FO G g 15 T
falr & g gifi?

15 cm
17 cm
34 cm

16 cm

Y@rei i3x + 4y +15=0 3R 6x+8y-13=0

Page-



O 0 W >

Q.No:46

o 0O W >

Q.No:47

o0 w

Q.No: 48

o 0O w

Q.No: 49

0O m

Q.No:50

Q.No:

o 0O w

Q.No:52

51

9/2 unit
37/10 unit
4/5 unit
43/10 unit

If x+y-2z=4andx2 +y2+z2=38the value of xy - yz -

zx is

The value of sin(450+ g )-cos(450- g ) is equal to
[0]
2sin

g
]

2cos

Median of the following table
#x 2025303540 as
f 3 2 |12| 6 4 1

32 31
30

None

is equal to

| ol 1w 1
w|g @l

The resistance of filament of 60W bulb at 240 volt is

960 ohm
1200 ohm
1920 ohm
1440 ohm

An object is placed at 60 cm from a covex lens of focal

length 30 cm. Linear magnification of the image is
1
-1

9/2 waTE
37110 s@rE
4[5 FhTE
43/10 g

RBE x+y-z=4 8RX2+y2+22=38 qaxy-yz-2zx

T A ERT 2

(sec2 8 -1)(1-cosec2 a) HHFENT?
2-10

1

sin(450+ g )-cos(450- g @G-
0 2sin
' s

2cos

A frimasmaeihmTiomg?

323130
Iwb 7O & FHIE

60 aehad Hagd Uy 240 @iz R E?
960 ohm

1200 ohm

1920 ohm

1440 ohm

309 HihE g I AOTE 60T g W@ A000 F

Ufferar 1 ¥l smmaeN ghm?
1
B

Page-



Q.No:53

O 0O o

Q.No:54

o 0w >

Q.No:55

BC

Q.No: 56

Q.No: 57

o 0 m >

Q.No:58

o 0O w >

Q.No:59

o 0 W

Q.No:60

Biot-Savart law related to magnetic field is equivalent
to
Lenz's law Gauss law

Faraday's law

Coulomb's law

Direction of magnetic field due to a current
carrying conductor is known by

Fleming's right hand rule
Lenz's Rule
Right hand's palm rule

Fleming's left hand rule

In one metre, the number of angstrom is ....
107
10 6
102

1010

Prism formula is given
bss{n(A + &m)
sind
sin(A + om)/2
sind

sin(A + &m)/2
sind /2

sin 2(A + &m)
sin24

The direction of force acting on a current
carrying conductor placed in a magnetic field is
given by

Screw rule
Lenz's rule
Fleming's right hand rule

Fleming's left hand rule

Refractive index of flint glass for red and violet colour
light are 1.644 and 1.664 respectively. Dispersive power
is

0.03 0.003 0.3 None of the above

Unit of solid angle
is
Steradian

(Metre)3

(Metre)2/Metre
Radian

The number system on which digital system is based
on

binary

i Y0 & wifda arat-SaeN e augy 87
00 a1 F7aw i @ s dRdferaw

FEATATRAH

RTATEY FTeich o U1 rehrg 10 Y g st et 82
GF & Zr 0 gy & few |nd & faaw 7l gy f gdeht
a1 2w TR & o] g1y &t fmam

1 *fiex 76 00 O::¥m & dpr
107
10 €
10 °

1010

fOGgugm?
sin(A4 + 8m)
sind
sin(A + ém) /2
sind

sin(A + &m)/2
sind/2

sin 2({A + &dm)
sin2A4

A 0 7O W ok YRTATE ITeich R o aret aet bt fiaem & st
&

g o 1w |00 @1 o o & qrad gy & U aawm e &
o g1y ot e

iGe e o1 Tt Ue v Uspter & Ferq sraaanies & 3
THRT: 1,644 A1 1.664 8, fatqutaaremrg?

0.030.0030.3
TR A R T

EThIUThTHT(IhE?
000Reaw Hiex3 e/

festeat fenm fswa dpt unfar w smemjza &2
g

Page-



[gNvs)

Q.No:61

o 0w

Q.No:62

CcD

Q.No:63

O 0O W

Q.No:64

o0 w >

Q.No: 65

[gRvs)

Q.No: 66

o o0 o

Q.No:67

o 0w

Q.No:68

octal decimal

hexadecimal

Which of the following is a fundamental
unit

meter/Second ampere

joule

newton

Real and inverted image is produced
by

Concave mirror
Convex lens

Concave lens (a) and (b) both

Which of the material is best conductor of electricity
5

Silver Gold
Copper

Platinum

The resistance of which bulb T00W, 220V or 60W, 220V
will be maximum ?

100w, 220V
60W, 220V
both will be equal

information is incompleted

An object is placed at 30 cm distance in front of a
convex mirror of focal length 15 cm. Linear
magnification of image is

1/3-3-1/3

3

S.I unit of energy is
coulomb joule

watt

ohm. metre

While using a simple microscope, object is
placed

beyond 2F

between 2F and F

between F and optical centre at 2F

In hydrogen atom, electron completes one revolution
around nucleus in 10-6 nano second. In 1second, e- will
complete __ __revolutions

108
10
1012

108

3 FIFET
Y™ ed

By a0 @ g Ao &7
Hie/dFs

iR

Qe

ain0ge qur 3z Uffter iy & ORT s simar 82
et FaNoT

3&e FUNoT

Sraae a0d

(a) & (b) gt

1 T geryN g gd &1 Fa@ $1D21 arerdh 82
=t &
=T

FR
sfea

R ad 100W, 220V a1 60W, 220V @1 UfRiY fafucras

100W, 220V
60W, 220V
g1 A gt
st quiN é @

15 St aghseTEuN U

terrdie, UtararedtgsmaaN—g ?

30 I+t gt w5 a000

1/3-3
-1/3
3

IS S|, HGHE?
bl

eI S

are 3w

e

TR GO T UTNT et T 9000 et STl 872
2F damRaF

2F &6

F @ Usefla &6 0 & 76

2F ®®

ETEEOHIRANHOZAB OMfATHRhaRISR 10-6378d6HsH0
UHIRGRIRATS, ThachedOgab OTda=aiRguy aHm?

1013
10 15
1012

108

Page-



Q.No: 69

o 0w >

Q.No:70

O 0O W

Q.No:71

o 0w

Q.No:72

BC

Q.No: 73

o 0o w

Q.No:74

o0 w >

Q.No:75

o o0 w >

Q.No:76

o 0w

Q.No:77

A person cann't see distinctly objects kept beyond 2
metres. This defect can be corrected by using lens of

power
-02D
-05D
02D

05D

The magnetic effect of current was discovered by

5
Orested
Flemming
Maxwell

Faraday

A magnetic field can be
groduced

Y a moving charge only
by changing electric field
by both of them None of

the above

joule/coulomb is equivalent
to

ampere

ohm

watt

volt

An error caused due to faulty measurement is
8alled
onstant error
Personal error
Systematic error

Random error

During experiment with three mirrors, linear
magnification are obtained as -1,1, 0.5. Correct
Sequence of three mirror is

Plane, Convex, Concave
Concave, Convex, Plane
Convex, Concave, Plane

concave, Plane, Convex

To calculate weight of the man, which of the
following parameter is used

Time
Speed
Mass

Length

Which of the following is not an ore of iron
?Haematite

Limonite

Magnesite

Magnetite

Atomic number. of an element 'M'is 12 and element 'N'

Tafib 2 Hiedfatue  SudgiREdhdieaaaOq
e v hehaToiIachdrg, IThIRTibe?

-02 D

-05 D

02D

05D

YRT & grehra Ura i @ie iy wef o2
SRO00% oF AR dmr

It GigfRaTSTaRaTg ?
FaAMTATAATAAORT

FaeUfaaOdegataOrT g @1 70
Orr 77 & i T

e/ QeI
Qf W 3 are gz

RIS AT & HROT I (T e 87
e ofemibra ofe o a000ftes afevce 57

o

dreuNvitdaraUgtmujzom ssuUTadiasma NTemE
-1,1,0.5 B IdfieaN vrehrg TR -

HHAA,IEH, Saae 3T, 3, THAA

I, HAdA, FHA SfeeTe], G, 3T

et & R Y o 7O By AO & A @1 R Ugb dlard?
Y =T UfaE A

FumG & o 2|

fEREfiatl M HIORATYTHieR 12 qUTaU N @& THIG 17 & | M

is 17. What will be the formula of the compound formed ger N %ﬁaaﬁrmggﬁm |

Page-
10



[gRvs)

between 'M' & 'N'
MN2 MN3 M7N2
M2N7

Q.No:780xidation Reaction involves

A

B
C
D

Q.No:79

o 0O w >

Q.No: 80

o 0w

Q.No:81

[g]

Q.No:82

o o0 w >

Q.No: 83

o 0O W

Q.No: 84

o 0 w >

Q.No: 85

Gain of oxygen by a substance Loss
of hydrogen by a substance Both a
and b

None of these

Which of the following compound form a
homologous series ?

C2H6, C3H8, C4H10

CH30OH, C2H50H, CH3COCH3
CH30OH, C2H50H, CH3COOH
C2H6, C2H4, C2H2

Which of the following is used in thermometer
5

Hg
C2H50H
Both

None

Which of the following is the strongest
base?
KOH

LiOH
NaOH
CsOH

Number of ion pairs of electrons on nitrogen atom

in NH3
]

AN W

Which among these is an acidic
salt?

NaCO3
CH3COOK
Na2S04 (NH4)2502

Total number of hydrogen atom present in T mole of

H20
4x6.023x10 23
6.022x10 23
2x6.022x10 23

3x6.023x10 23

Carbon : Nonmetal :: Germanium :
Non-metal Metalloid

Metal

MN2
MN3
M7N2
M2N7

AieReT fIATaTg |
foreft wererN AO SIS a1 o famedt
geraN ORT 818280 Yoi &l P17 &t it

“a AUt b 37 @ i T

) 7 & i e geeeia Woft s gce-

C2H6, C3H8, C4H10 CH30H,
C2H50H, CH3COCH3 CH30H,
C2H50H, CH3COOH C2H6,

C2H4, C2H2

iy 70 § a9 A" ado 7O fhe Udmaa @ |
Hg

C2H50H

At g

&

a0 @ Useram IR g |
KOH

LiOH
NaOH
CsOH

NH 310 7O e e TR Gehreht gabO™ g2 & Tpr &
3
1

AN oW

A 7O @ @iF T wfqur sifa B
NaCO3

CH3COOK

Na2s04

(NH4)2502

St 1 e 7O 1580 Yo & wreTupait i Hpr gt

4x6.023x10 2=
6.022x10 23
2x6.022x10 23

3x6.023x10 23

FrEN: g SEER
q H
sruTg

Ity

?

Page-T1



Q.No:86

o0 W >

Q.No:87

o o0 w >

Q.No: 88

O 0o w

Q.No:89

o 0O mw »

Q.No:90

o 0O w >

Q.No:91 A

Liquid-metal

The suffix used for functional group

G = =

-ol -

-ene

-ane

No. of unsaturateds bonds in the compound

s

are
N=C—CH,—C—NH— CH=CH,

N N W

Which among the following is not a allotropes of
carbon

fullerene Graphite
Methane

Diamond

An alloy of Aluminuim is used in making aircrafts. The
name of an alloy is

Duralumin
stainless steel

solder Brass

Which among the following will have the highest
boiling point ?

n-butane

n-octane

n-heptane

n-pentane

Octane number of n-heptane
is

90 Zero

100

10

Q.No:92Laws of Chemical combination include

A

B
C
D

Q.No0:93

AB

Law of conservartion of mass Law of
definite or constant proportion Both

None of these

300 K temperature is equal to
5730C 400C
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C 270C

D 3000C
Q.No:94 BOD(Biochemical Oxygen Demand) of polluted water
A 5 ppm
BC <4 ppm
D <6 ppm
>6 ppm

Not Answered

Q.No:95 The metal used in galvanization
A Lse
B Al
cD Cn
Zn
If the mass of 1 mole of carbon atom is 12g, then the
Q.No:96 mass of 1atom of carbon will be (Avogardro Number
6.023 x10 23)
A 199x10 g
B
c 199x10 7 g
D 199x10 B g
199x10 g
Q.No:97 General formula for alkyne homologous series is
AB Cn2n+1
En 2n-2
H
C C 2n
R2n+2
n
C
. Silver jewellary turns black after some time when left
Q.No: 98 b . f
oPen in air due to formation of
A Ag20
B AgO
c Ag2S
D AgNO3
Q.No: 99 Main constituent or component of CNG
A EoHe
B CH4
cD 02

CcO2

Not Answered

Q.No: 100 Which of the following is not a sulphide
AB Pr[:en?pyrite

C Bauxite

D Argentite

Galena

© UPJEEP. All rights
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